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Q1  Simplify

(a) ) —16e12*

b) 16el%*
C) Zelzx

d) 16e81%°

Q2 Simplify

Q3  Aninitial investment of $2500 grows e (o lafin) Cluas (3 a8 53 2500 dle poay 3
continuously at an average rate of 8.5% t e gl Jiay Ljas | ed S) 8,504 o_laie 52304
per year. Write a function that will give the Gl giall e

:\jlue of the investment f(t) after t years.
a) A)= 2500e0.085t

b) A =2500¢e%85

v o

A- Pe
(o\ogﬁ}k
c) A=2500(1+ 0.085) A= 0Soo €

0.085\™
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Find the balance in account at the end of 6 Dlaind &5 13) alsel 6 ey s 3 aa N aa gl 4
years if AED 6000 is invested at an interest Yo4 3 yise A o J2ray a2 3 6000
rate of 4% that is compound continuously oa 3 Al ) elida) B
Round your answer to the nearest AED

8396 (0.0"’) 6

A: fooo €

8336

@7627 A - d527F-4q

d) 7592

Find the balance in account at the end of 8 Dl a3 1)) alsef 8 amy i 8 aa )l aa ) 5
years if AED 6000 is invested at an interest %4.2 3 i dx) jo Jazas a8 52 6000

rate of 4.2% that is compound continuously aa 3 A ) elida) B
Round your answer to the nearest AED

@ 8396 ( 0042 &)
/..\‘T_éoc)a 'Q

8339

8263 A: QSO\J\ OASQ’\

8257

Find the balance in account at the end of 10 Dl a3 13 alsef 10 2 s G aa Ml oyl s
years if AED 1000 is invested at an interest %8 3 _aiua dxyl jo Jaras a8 331000

rate of 8% that is compound continuously et 3 il ) sl
Round your answer to the nearest AED

1083 (0-®)(16)

2226 /A\; \coo &

10000

N- 2225. 54

8000
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Find the balance in account at the end of 10 Dt @313 ol el 10 2 Clun (A awa ll aa gl 70
years if AED 1000 is invested at an interest %6 B _aina Al jo Jazas a2 331000
rate of 6% that is compound continuously

1086.11 @6y (le)
A< \ooo €

1822.12

1819.40 R-—"| €27 \\Vqg¢

1820.03

Ahmed acquired an inheritance of AED & k) At )3 20000 ey &l e e daal Jias s

20000 at age 8, but he will not have access o Ss all Jea gl e oSty 41 ALl s
to it until he turns 18. How much will & Ana s o 13) deal &l e lae Le i Audlil)
Ahmed’s inheritance be wroth if it is §74.2 Ay 5 s 3208 0 s
placed in an account earing 4.2% interest

continuously? (0~ o1?2)( lo)

AED 30179.16
A = Qecoc ﬁ
AED 42594.85

AED 30439.23 A< Belf3a .23y

AED41942.00

Q9 Consider the function [1,4] sl A il Ja gie aa gl f (o) Al oS3 9
f(x).What is the average rate of
change over the interval [1, 4]?

C) f(x) = 72 + 1.

= fea-%_ 5 3y
W=
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Consider the function f(x) . What is the
average rate of change over the interval
[-1,2]?

f(x) = —e
-3.19

—4.93

Pcyy - (-

sl b sl s gie Sa gl (30) WA ST 100
[_11 2]

~ € 56

@,—6.36

d -12.7

2 -\

Q11 Consider the function f(x) .
Find the average rate of change over the
interval [-5, -2].

sl el i sia an gl f (X)) A 3 110w
52|

f(x) = 3e*1 + 3

—0.0743

1.953

PCD- RS

(- 2)oarg+ 5y

0.0743

—1.953

Consider the function f(x) .
Find the average rate of change over the
interval [-7, -4].

sl eyl o gie 2l f (1) A 4 120
[-7, -4]

f(x) = —2e*3 +2

0.233

1.100

P(-4) -£C#)

—0.233

—-1.100
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Consider the function f(x) . sl 2aa f(x) s 130
Determine the range.

f(x) = —3e*™3 +2
x> 2

y>2 J >

x<2

y <2

Q14 Consider the function f(x) . el s f(x) A 140
Determine the range.

f(x) = —2e*t1 —5
x>5

y>5 Yy 5

x<5

@ y<5

Q15 Determine the equation of the @iy 4 siey ia)j) oy f((x) A0 Allaassa 1500
function f(x)after being translated 4 Ja) (I Claa s 35 bl s
units left and 3 units down

f(x) =e*

X« 4

gx)=e**-3
‘3@‘):6 =5

gx)=e*3-4
g =e*3—4
gx) =e*** -3

Determine the equation of the 8aa g 2 e Leial 3l an f() Aol dobae 2aa 160
function f(x)after being translated 2 X Jsae & oalSadly eVl () Slas s 55 Jlaadl) s
units left and 5 units up and reflect on
X-axis
fx) =¢€*
gx)=—e*>+2 X+2

9(x) = —e*2 — 5 9(%):"( T 9

g(x) = —e**> -2

g(x) = —e**?2 +5
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Q17 Consider g(x) F(x) Dah gl 1700
gx) = —e*tl + 2

a. Graph the function.
Al olo Jie

b. Determine domain and range.
Sally Jeall 0>
p €~ el ( -~ ,09)

RE, ¢ \j<l

c. Find the average rate of change over the
interval [-4, -1].

[-4,-1] 558l Ao il o gia aa ) f(x) Al =
6(..»)—- 9("‘4)__ 1
=\ - () ‘

gx) = —e*% +1

a. Graph the function.
U Ol Jie

b. Determine domain and range.

Sdally Jlxall 30>

Dov,\r\c\\'« (—DQ /°°)

R enc ~) <N

c. Find the average rate of change over the
interval [-5, -2].

[-5,-2] 38l Ao juaill Jas i 2 o f(x) Allal) 4
9(-2) =9 (-5) _ 91

W= IMADODRHZT L
\—2) -(-95)
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